Statistics 300
Quiz #17

(3 points; 2 minutes)

1. Assign the three sample correlation coefficients to the three pictures. A correlation
value may be used more than once or not at all. If a picture has no appropriate
correlation available, write NONE [do not use the zero].
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(3 points; 2 minutes)

2. Assign the three sample correlation coefficients to the three pictures. A correlation
value may be used more than once or not at all. If a picture has no appropriate
correlation available, write NONE [do not put zero].
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(3 points; 2 minutes)

3. Assign the three sample correlation coefficients to the three pictures. A correlation
value may be used more than once or not at all. If a picture has no appropriate
correlation available, write NONE [do not use the zero].
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(7 points; 8 minutes)
2. Market research concerning spending patterns found a sample correlation of
0.66 between X=purchase price of house and Y=purchase price of automobile
for a sample of 6 families. Use these results to test the claim that the prices

paid for houses and cars are positively correlated for the population of all families.
(Use a 0.05 significance level for this test.)
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(15 points - 16 minutes)
3. Use the data given below to answer questions (a) through (i).

(X? (Y) Linear Relationship
Fertilizer Harvested

Test Applied | Grain
Area |(Kg/Ha) (Kg / Ha)

1 0 429
2 10 859
3 40 1572
4 80 1756
5 120 1256
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(a) Plot the data on the coordinate axes.
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(b) What is the equation of the least squares regression line for these data : :j - X,’U] + 6 ' ? ' ('X)

A A
X ¢

.31 = Y
(c) Plot the line on the graph.( 2 O/ Qb'}) ( IOO/ S 7—6)
two poiets ,
(d) If a farmer used 30 Kg c?f fertilizer Rer hectare, hpw much grain should be expected? Z 0 2 b

@'squc,\L(’ci( =Y = 829 +4. Q//g(j

(e) What is the linear correlation between fertilizer applied and grain harvested? 0 U 6 [/ / f
\'g pvvv\ (Lq,[ ca/éqjé\./ 2
() What is the expression for "total variation in Y" (amounts of grain harvested)? Z (;5{ "‘i:l )

J

(g) What is the value of the total variation in Y, the amounts of grain harvested? / / 35’ / 0 /

‘\Mlu O.Z Z(ﬁ/:j))‘ e SJZ[’Y\'D =

(h) What fraction of the total variation in Y is explained by the regression line? ﬁ ¢ L// / 7
s ™ proportion el varvighen oxp ey ’Wf/ é L e
(i) What is the expression for "explained variation in Y ?" ( y - ‘;f)
u <

(i) What is the value of the explained variation in Y? y7 7 02 72—

; 2 L :

valbwe (e D btal) = (0. 404)Us#r0) _ Ao
(k) What is the expression for "i/mexplained variationin Y ?" Z. Lf - L/ )

<

(I) What is the value of the unexplained variation in Y? é g / 0 7 ﬁ)

= Fotad —uxplasmed \i‘i (y-§)%

(m) What is the expression for standard error of estimate, Se N -2~

(n) Determine the value of the standard error of estimate, Se? ?7 0 )
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